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1.25 - = 107
35
1001 L W
0
0.75 - 2
% _101
0.50
0.25 1 ~50 4
000 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.2 1
—— pol 0 20 - —— pol 0
1.0 — pol 1 — poll
l_I"_| 10 -
> 0.8 =
— ()
o S,
% 0.6 v 0 1 W
[ ©
g s
0.4 - i
o -10
0.2
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.2 — pol 0 20 - —— pol 0
— pol 1 — pol 1
~— 1.0 1
| _ 10+
P o
o 0.8 - 3
G 0.6 g 01 w
2 5
§ 0.4 —10 -
0.2
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 ]1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
— pol 0 204 — polO
084 — poll —— pol 1
T: _ 10+
= 0.6 o
o S,
: = o
g 0.4 %
S —10 ~
0.2
_20 .
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]



power amp [Jy~!] power amp [Jy~!] power amp [Jy~!] power amp [Jy~!]

power amp [Jy~1]

mO013

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

phase [deg]

phase [deg]

phase [deg]

phase [deg]

phase [deg]

0.8 A — pol 0
— pol 1
0.6 A
0.4 A
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
0.8 A — pol 0
— pol 1
0.6 A
0.4 A
0.2 A
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
0.6 1668865347 J1939-6342 4k 0.08h
. — pol 0
0.5 A — pol 1
0.4 A
0.3 A
0.2 A
0.1~
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h
0.5 A — pol 0
— pol 1
0.4 A
0.3 A
0.2 A
0.1 A
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
— pol 0
044 — poll
0.3 A
0.2 A
0.1 A
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

— pol 1
10
0

_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 | ﬁw ==
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 - e
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S3 elev 57-57 deg

20 A

10 -

0_

_10 -

_20 .

— pol 0
— pol 1

1800 2000 2200

solint 10 sec S4 elev 57-57 deg

2400 2600 2800 3000 3200 3400

20 A

10 A

O_

_10 -

_20 .

— pol 0
— poll

1800 2000 2200

2400 2600 2800 3000 3200 3400
freq [MHz]




mO014

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75 4

1.50 A

1.25 -

1.00 -

0.75 A

power amp [Jy~!]

0.50 A

0.25 A

0.00

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668862317 J1939-6342 4k 0.08h

1.75 1
1.50 -
1.25 4
1.00 A
0.75 A

power amp [Jy~!]

0.50 A
0.25 A

0.00

—— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668865347 J1939-6342 4k 0.08h

power amp [Jy~]

— pol 0
— pol 1

1800

2000

2200

2400

2600

2800

3000 3200 3400

phase [deg]

1668867372 J1939-6342 4k 0.08h

power amp [Jy~!]
© © o == ¥
SN (@) (o] o N

©
N
1

©
o

— pol 0
— pol 1

1800

2000

2200

2400

2600

2800

3000 3200 3400

phase [deg]

1668869113 J1939-6342 4k 0.08h

] —— pol0
— poll

=
o

o
(o]
1

power amp [Jy~]
o o
> o

©
N
1

o
o

1800

2000

2200

2400

2600
freq [MHZz]

2800

3000 3200 3400

phase [deg]

20 A — pol 0
— pol 1
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
01 ::.F\/“Jr e ———— —
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 1 :‘v—n—a\ e e
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 1 e — ]
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 -
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO15

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75 A — pol 0
— pol 1
_ 1501 P
> 1.251 S
3 35
1.00 - =
5 %
T 0.75 - 2
2 o
o
2 0.50 -
0.25 -
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
1.75 4 — pol 0
1.50 A — pol 1
Eh 1.25 - =
3 35
1.00 - 2
= 3
5 0.75 1 2
= o
8 0.50 1
0.25 -
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.2 A — pol 0
' —— pol 1
= 1.0 4
lZ: =y
Egtms— ]
% 0.6 - &
(V] <
= o
S 0.4+
0.2 -
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.2 1
— pol 0
1.0 — pol 1
> 0.8 - =
— [J]
> i)
€ 0.6 @
[ (0]
(O] <
2 0.4 o
o
0.2 -
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
— pol 0
084 — poll
T
3 0.6 - 2
o i)
5 2
s 0.4 2
= o
o
o
0.2 -
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
-10
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
/——ﬁ
0 M‘C/f\/
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 -
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 1 t:::::=-__‘::::======"=::::::::::>1::::::::::::
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 -
O -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




power amp [Jy~!]

mO016
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

power amp [Jy~!]

power amp [Jy~]

power amp [Jy~]

power amp [Jy~!]

2.0 1 —— pol 0 20 - —— pol 0
—— pol 1 —— pol1l
1.5 101
(@)
()
S
1.0 A v 0 A1
©
e
o
_10 _
0.5 A1
_20 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
— pol 0 20 - — pol 0
2.0 1 —— pol 1 —— pol1l
101
1.5 - 5
A=)
3 O S T
1.0 1 5 I
e
o
_10 _
0.5 A
_20 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
2.0 - —— pol 0 20 —— pol 0
— pol 1 — poll
1.5 - 104
(@)}
()
S
0 -
1.0 1 2 R
<
o
_10 _
0.5 A1
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
2.0 - — pol 0 20 - — pol 0
— pol 1 —— pol 1l
1.5 - = 101
()
3 /‘\_
o 0 ~—
1.0 1 o — R
e
o
_10 _
0.5 A1
_20 -
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.75 A
— pol 0 204 — polO
1.5097 — pol1l — pol 1
1.25 - 101
(@)}
[}
1.00 A I,
) O _ | - L O—w
0.75 - 2 —
=
0.50 A —10 A
0.25 - -
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]



mQO17

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75
— pol 0
1.50 A — pol 1
1,25 -
= >
— (]
2 1.00 T
© 3
5 0.75 H o
2 o
S 0.50
0.25
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
1.75 pol 0
1.50 A — pol 1
5 1.251 =
o 1.00 ks
£ v
5 0.75 - 2
= o
8 0.50 -
0.25 -
000 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.2 4 —— pol 0
— pol 1
_1.01 .
-—|| —
3 0.8 - >
o S,
£ 064 3
[ ©
(O] <
2 0.4 o
o
0.2
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.4
— pol 0
1.2 A — pol 1
=" 1.0 -
3 >
2 0.81 3
Q
C 0.6 1 o
(] N
= o
S 0.4
0.2
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.0 -
— pol 0
—— pol 1l
0.8 - PO
'2 o
206" S
g B
o 0.4 2
= o
o
o
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 T W
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
0 - W
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 A W M
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO18
1668863917 J1939-6342 4k 0.08h

solint 10 sec SO elev 55-56 deg

2.0
— pol 0 20 —— pol 0
— pol 1 — pol 1
— 1.5
| 10
3 o
— ()
= S
£ 1.01 @ 07
o ©
g 5
o —10 ~
2 0.5
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
2.0 1 —— pol 0 20 4 —— pol 0
— pol 1 — poll
= 1.5 4 10 -
= 5
— ]
o S | .
S —10 ~
0.5 A
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.75 4 ——— pOI 0 20 4 — pOI 0
1.50 A — poll —— pol 1
> 1.25 A = 107
3 S
g 1.00 A '5‘ 0 —
© a w
$ 0.75 2 l
% o _10 -
2 0.50 A
0.25 A —20 A
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
2.0 A
—— pol 0 20 - —— pol 0
— pol 1 —— pol 1l
— 1.5 A
v—li 5 10 N
= e
— ()
= S
% 1.0 - 8 0 A :?/f \W
o ©
g 5
o —10 ~
S 0.5
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.49 —— pol 0 504 — pol 0
1.2 - pol 1 — poll
% 104 = 107
3 S
0.8 - S,
: > o]
5 0.6 1 2
s % _10-
2 0.4 —
0.2 - 504
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

freq [MHz]




mO019
1668863917 J1939-6342 4k 0.08h
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© o o = =
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1668867372 J1939-6342 4k 0.08h
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phase [deg]

1800
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1668869113 J1939-6342 4k 0.08h
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o
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o o
> o

o
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o
o

phase [deg]

1800

2000

2200

2400
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freq [MHZz]

2800

3000 3200 3400

solint 10 sec SO elev 55-56 deg

20 — pol 0
— pol 1
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0- l L —
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
0 _ - =
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 - >=>—— ——— 4——1::::7
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
0- k:::2:::::=='-._.:::::::::===-_“’_‘4’r—déﬁf7=::::
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO020
1668863917 )1939-6342 4k 0.08h

| — pol 0
1.4 — poll
.—'4_| 12 T
|
3 1.0 1 5
= S
£ 0.81 A
o 0.6 - 2
e o
o
Q0.4 -
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
1.4 - — pol0
— pol 1
— 1.2 -
|
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= S,
£ 0.81 A
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g 0.6 - <
o
Q 0.4
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.0 A — pol 0
— pol 1
F‘OB—
3 e
2 06 3
g 2
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$ 0.4- e
o
o
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h
1.0 A — pol 0
— pol 1
~— 0.8 1
fa o
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o 0.6 S,
g 2
o 2
g 0.4 S
o
o
0.2 A
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
0.74 — pol0
— pol 1
_ 0.6 P
> 0.5 >
3 S
0.4 A =
5 2
o 0.3 2
= o
o
2 0.2 A
0.1 -
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

solint 10 sec SO elev 55-56 deg

20 A — pol 0
— pol 1
10 A
01 bb'’c,I'r-‘::.'::'_':=:::‘::*:::::::-'-;*---_‘4“:::::::::
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 -
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 - M A
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 -
O -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO021

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0
2.0 A — pol 1
T
> 1.5 5
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o
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1668867372 J1939-6342 4k 0.08h
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= o
o
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_10 _
_20 -
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solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10

0- W

_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
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_10 _
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1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 -
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_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
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10 -
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO022
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0.0 T T T T T T T T T
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0.00 T T T T T T T T T
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1668867372 J1939-6342 4k 0.08h
1.75 - — pol 0
1.50 - pol 1
> 1.25 - =
3 S
1.00 A =
5 9
5 0.75 2
2 o
2 0.50 1
0.25 A
0-00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.504 — pol 0
— poll
—, 1.25
|
3 1.00 A >
g S,
© 0.75 A
— ©
g 5
o 0.50 A
o
0.25 A
000 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

solint 10 sec SO elev 55-56 deg

— pol 1
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 =>F‘:::::-‘~hr===:::::F==’—*—“5::::=,‘===-___——<
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
. I T — e —
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 e \—K%:
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

20_ _ pOI 0
— poll
10
0- {"\_\\M
_10_
_20_
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO023
1668863917 )1939-6342 4k 0.08h

2.0 A — pol 0
— pol 1
f? 1.5 1 —
Py o
— [J]
3 g
© 1.0 A Q
o ©
(O] <
z a
g
0.5 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A — pol 0
— pol 1
T 1.5+
= 5
— ]
= S,
£ 10 A
[ ©
(] c
= a
g
0.5 A
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.4 - — pol 0
— pol 1
1.2 1 >
> 1.0 =
= S
0.8 - S,
g %
@ 0.6 2
= o
o
2 0.4 -
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.2 - — poll
jb 1.0 5
: 0 8 _ %
g 2
5 0.6 @
= o
8 0.4 1
0.2
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.2 A
— pol 0
1.04 — pol1l
> 0.8 S
— (V]
o S,
£ 0.6 1 v
[ ©
g 5
3 0.4
o
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

solint 10 sec SO elev 55-56 deg

20 A — pol 0
— pol 1
10 A
0 _ f
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 n /:'77\? L e st
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
ol
0 - g - /\/’V
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
= ,;—:
0 A e R e —
V
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

20 15 B pOI 0
— poll
10 A
01 —\\m
_10_
_20_
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




m024
1668863917 ]J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75 7 —— pol 0 20 4 —— pol 0
1.50 - —— pol 1 —— pol 1
5 1.5 = 10 1
— [J]
& 1.00 1 5 0- N
5 0.75 <
2 o3 |
 0.50 —10
0.25 —20 -
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
1.75 1 —— pol 0 20 4 —— pol 0
1.50 4 — pol 1l — poll
5 1.251 = 101
3 35
£ 1.00 2 4l ’ : o o
w0
5 0.75 2
3 % _101
& 0.50 A -
0.25 _50 4
OOO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.4 - — pol 0 20 — pol 0
— pol 1 — poll
— 1.2 1
.—lc —_ 10 .
2 1.0 1 o
— (V]
3 0.8 1 5 L—_-_—_?b"'
% ] v 0 1] \}%
% 0.6 - < o
2 0.4 4
0.2 _50 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.4 A — pol 0 20 - — pol 0
— pol 1 — pol 1
1.2 & .
> 1.0 = 107
= 35
0.8 A = i
: 2 0 W
@ 0.6 - 2
s % _10-
2 0.4 1
0.2 —-20
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 ]J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
— pol 0 204 — polO
5 0.8 = 10 1
— (V]
£ 0.6 =
: = o
g’ 0.4 - 5?—';
3 ~10 -
0.2 1
_20 .
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]



power amp [Jy~!]

power amp [Jy~!]

power amp [Jy~!]

power amp [Jy~]

mO025
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

power amp [Jy~]

1.75 A pol 0 50 4 — pol 0
1.50 A —— pol 1 — pol 1
1.25 1 101
(@)
()
1.00 A S
0] 0 1
n
0.75 © F\:t
o
0.50 - —101
0.25 90
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
1.75 A
— pol 0 20 - — pol 0
1.50 A — pol 1 — pol 1
1.25 A 101
(@)}
]
1.00 A o
) 0 >§:P____~—-,+—C§_\ T
0.75 A é
o
0.50 - —101
0.25 1 504
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
—— pol 0 20 - —— pol 0
1.0 A 10 -
o
0.8 1 S
© 0 - M@J’Q
0.6 ©
<
o
0.4 —10 1
.2
0 —20 A
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.4 1
— pol 0 20 - — pol 0
1.2 1 — pol 1 — poll
1.0 . 10
o
0.8 A T,
8 0 - W
0.6 A ©
<
o
0.4 —10 7
0.2 1 50 -
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.04 —— pOIO 20 —— pOIO
— poll — poll
0.8 A
101
o
0.6 A T,
) 0+
0
©
0.4 <
_10 _
0.2
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]



mO026

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0 20 —— pol 0
2.0 — pol 1 — poll
FI: _ 10
3 1.5 o
= S
: = o] .
g 1.0 A fSQU-
2 ~10
0.5 A
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
1.75
— pol 0 20 - — pol 0
1.50 1 —— pol 1 —— pol 1
=7 1.25 1 10 4
3 5
o 1.00 1 3
g 07 M
C 0.75 A s
() c
2 ® _10-
S 0.50 A -
0.25 A —20 A
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
—— pol 0 20 - —— pol 0
1.0 1 — pol 1 — poll
L 081 = 107
— ()
o S,
% 0.6 - v 0 1 M
- ©
03) 0.4 A S
S ~10 -
0.2 1
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
L4 1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
—— pol 0 20 - —— pol 0
1.2 A —— pol 1 — pol 1
"T 1.0 A 10 -
= e
2 0.8 - S
= ';' 0 - M
C 0.6 - 5
g &
S 0.4 1 —10
0.2 1 _204
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
— pol 0 204 — polO
0.8 A pol 1 — pol 1
'_Ir'_‘ 10 -
> 0.6 =
— [}
g— S,
0 -
()
C 0.4 5
g g
2 ~10
0.2 1
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz] freq [MHz]




mQO27

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

2.0 A — pol 0
— pol 1
= 1.5 -
3 >
— (O]
Q 5
€ 1.0 2
[ ()
(O] e
= o
3
0.5 ~
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A —— pol 0
— pol 1
T 1.5 -
= =
— ()
g S
S 1.0 - 2
[ ©
() <
= o
3
0.5 ~
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.4 A — pol 0
— pol 1
_ 1.2 .
> 1.0 S
= 5
0.8 A —
5 9
@ 0.6 - 2
g oY
2 0.4 1
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.41 — pol 0
1.2 - — pol 1
72: 1.0 1 =
5 3
5 0.6 1 2
= o
3 0.4
0.2 A
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
— pol 0
1.091 — pol1
E:QS_ =
— (V]
€ 0.6 =
g 0
[ ©
() <
2 0.4 Q
(@]
o
0.2 A
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 - W ‘bq
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
0- jr:;/ ——— . ———
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 ::::::::=—'—-<:::::::2:=~<::::::==""=:::::==
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
O -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




power amp [Jy~!]

mO028

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

freq [MHz]

— pol 0 20 - —— pol 0
2.0 - — pol 1 — pol 1
i _ 10
= 1.5 o
= S
g 2 07 M
g 1.0 A %
2 ~10
0.5
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
— pol 0 20 - — pol 0
2.0 1 — pol 1 — pol 1
= _ 10
= 1.5 >
= S,
g 1.0 _g
2 ~10
0.5 A
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
2.0
—— pol 0 20 - —— pol 0
— pol 1 — poll
— 1.5 -
.—lc —_ 10 .
P o
— ()
o 5
£ 1.01 o 071 ' WM 4
- ©
g &
o —10 ~
2 0.5
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
2.0
— pol 0 20 - — pol 0
— pol 1 — pol 1
— 1.5 -
|—|1 —_ 10 N
P o
— ()
= S
% 1.0 A Q 0 1 W
o ©
g &
o —10 A
2 0.5 -
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1501 — pol0 204 — Pol0
— poll — poll
1.25 -
101
(@)}
1.00 - S T~
) 0+
0.75 - S
<
o
0.50 A —10 A
0.25 A
_20 .
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]




mO029

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75

1.50 -

1.25 -

1.00 A

0.75 A

power amp [Jy~!]

0.50 A

0.25 A

0.00

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668862317 J1939-6342 4k 0.08h

1.75 4
1.50 -
1.25 -
1.00 -
0.75 A

power amp [Jy~!]

0.50 A
0.25 A

0.00

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668865347 J1939-6342 4k 0.08h

©c o = = =
(o)} [e¢] o N H
1 1 1 1 1

ower amp [Jy~!]

S 0.4

0.2 1

0.0

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668867372 J1939-6342 4k 0.08h

power amp [Jy~1]

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668869113 J1939-6342 4k 0.08h

power amp [Jy~]
© o © = =
I (@) ] o N

©
N
1

o
o

— pol 0
— poll

phase [deg]

1800

2000

2200

2400

2600
freq [MHZz]

2800

3000 3200 3400

20 A — pol 0
— pol 1
10 A
P §
0 . 1 ' 1 =SS
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0_ M | | P — —_— v
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 - %—W—Qﬂ
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
01 — V’QQ
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 -
) FjQ - NP
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO030

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

2.0 A — pol 0
— pol 1
7151 -
Py o
— [J]
g S
© 1.0 - A
o ©
(O] <
2 o
g
0.5 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
204 — pol 0
— pol 1
lZ: 1.5 4 =
— ]
g S,
® 1.0
(] c
= o
o
o
0.5 A
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.50 A — pol 0
— pol 1
— 1.25 1
[ —
3 1.00 - 5
g— S,
S 0.75 2
[ ©
g 5
o 0.50 ~
o
0.25 4
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.50 A — pol 0
— pol 1
_1.25
T
= 1.00 A >
g— S
S 0.75 - A
[ ©
(0] <
5 0.50 - s
o
0.25 4
0-00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.2 A
— pol 0
104 — Ppoll
> 0.8 -
— (V]
o S,
£ 0.6 1 v
g 2
3 0.4 1 e
o
0.2 A
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
01 W
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 -
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 - M
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 -
i —
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




power amp [Jy~!]

power amp [Jy~]

power amp [Jy~1]

mO031
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75 —— pol 0 20 4 —— pol 0
1.50 —— pol 1 —— pol 1
10
1.25 1 5 1
[J]
1.00 - 2 0 R
8 \-—
0.75 - 2
o
0.50 - —10 -
0.25 —-20
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 J1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
2.0
— pol 0 20 - — pol 0
— pol 1 — poll
— 1.5 1
.—li —_ 10 N
e o
— ]
o E oy
w0
o —10 ~
2 0.5
_20 .
OO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.50 A —— pol 0 20 - —— pol 0
— pol 1 — poll
1.25 1
101
1.00 A 0
S,
0 [ /N
s
0.50 1 —-10
0.25 -
_20 _
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.50 - — pol 0 20 —— pol 0
— pol 1 — pol 1
1.25
101
1.00 A o
3 p—\/
0.75 1 2 0 g
<
o
0.50 A —10 ~
0.25 1
_20 .
0-00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.2
— pol 0 204 — polO
1.04{ — poll — poll
'_I'T‘ 10 -
> 0.8 1 =
— (V]
o S,
% 0.6 - @ 0 - ‘/___/ \w
0.4 i
S -10
0.2 A
_20 .
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]




mO032

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75 - — pol 0
1.50 - pol 1
> 1.25 - =
3 5
1.00 A =
5 2
5 0.75 - 2
2 o
8 0.50 -
0.25
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
1.75 4 —— pol 0
150 - — pol 1
'a 1.25 A =
3 3
1.00 - =
= @
5 0.75 - 2
= o
8 0.50 -
0.25 A
000 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.2 A — pol 0
— pol 1
. 1.04
| —_
30.8- 2
g 5,
S 0.6 - 2
[ ©
g 5
o 0.4
o
0.2
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.2 A —— pol 0
— pol 1
- 1.0 A
|
3 >
*é.QS— :g
© 0.6 %
g 5
§_Q4-
0.2 1
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
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5 0.4 o
= o}
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o
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00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
-10
-20
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 . W — i |
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
0 | W\;’_—“V. — ———
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 A — .’V‘
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
0 L==::::======.» —
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO033

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

2.5
— pol 0
204 — pol 1
"
. —_
= 1.5 - o
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o
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1800 2000 2200 2400 2600 2800 3000 3200 3400
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o
o
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— pol 0
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{" 1.25 A
3 e
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© 0.75 - 2
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= o
8 0.50 A1
0.25 A
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h
— pol 0
1.50 A
— pol 1
5 1.25
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© 0.75 - %
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8 0.50 A
0.25 A
0-00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
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— pol 0
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o S,
£ 0.6 1 @
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o
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0
—-10 4+
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1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
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0_ —k R R P <
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0- - —
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 E—————
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
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10 -
O -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO034

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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1.50 1 — pol 1 — pol 1
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0.25 -20
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_20_
OO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.75 A —— pol 0 20 4 — pol 0
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2 1.001 S
% g 0 - W—%
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1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
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freq [MHZz] freq [MHz]




mO035

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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solint 10 sec S2 elev 56-56 deg
20 4 — pol 0
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10 1
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_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A —— pol 0
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10 1
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_20 _
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solint 10 sec S4 elev 57-57 deg
204 —— pol O
— pol 1
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0 -
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mQO37

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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solint 10 sec S2 elev 56-56 deg
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1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A —— pol 0
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1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 ~
0 - W
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 A
0 - 4 \f&\;
_10 _ |
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 VAV Q
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
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0 - ﬁ\\/_ N
_10 _
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1800 2000 2200 2400 2600 2800 3000 3200 3400
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mO039
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1 — pol 0 20 - — pol 0
2.0 — pol 1 — pol 1
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1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
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1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.75 A = pOl 0 20 - — pOI 0
1.50 —— pol 1 —— pol 1
5 1.25 - = 107
3 35
1.00 =
- % /w
% v 0
5 0.75 - 2
3 * _101
2 0.50
0.25 A —-20
0-00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.4 —— pol 0 204 — pol 0
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0.2 _50 4
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
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mO040
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0 20 - —— pol 0
2.0 1 —— poll — pol 1
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1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
2:3 1 — pol 0 20 - — pol 0
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— 2.0 1
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1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.75 A — pol 0 20 — pol 0
— pol 1 — pol 1
1.50 A 2 2
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1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.75 1 —— pol 0 20 - —— pol 0
— pol 1 —— pol 1l
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r—II —_ 10 N
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1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
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freq [MHZz] freq [MHz]
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1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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—— pol 0 20 - —— pol 0
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1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg
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freq [MHz]




mQ044

1668863917 ]J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75 A — pol 0
150 - — pol 1
> 1.25 - =
3 5
1.00 A —
5 2
5 0.75 - 2
2 o
2 0.50 1
0.25
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 J1939-6342 4k 0.08h
2.0
— pol 0
— pol 1
o 1.5 A
lz o
— [J]
o S
£ 1.0 @
[ ©
(O] <
= o
(@]
S 0.5 1
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.4 A — pol 0
— pol 1
_ 1.2 1
> 1.0- -
— (V]
£ 0.8 - 2
£ o g
@ 0.6 1 2
= o
o
Q 0.4
0.2 -
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
i — pol 0
1.50 pol 1
=5 1.25 4
é‘ o
2 1.00 - 3
© 0.75 - %
(O] <
2 o
2 0.50 A
0.25 A
0-00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.24 —— pol0
— poll
_ 1.0~
7
3 0.8 - 2
g— S
© 0.6 - 2
[ ©
g s
5 0.4
o
0.2 1
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
01 - - —
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 % fff L ;\W
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 _ | T ————— B .. WIS
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
e N
°] - gB A
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

20_ —— pOI 0
— poll
10
. L = A
—10
—20
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mOQ045
1668863917 J1939-6342 4k 0.08h

1.75
— pol 0
1.50 A — pol 1
=" 1.25 -
3 e
= 1.00 - g
£ o
C 0.75 1 5
(0] <
2 o
8 0.50 1
0.25 4
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
1.75 1
— pol 0
1.50 A — pol 1
" 1.25 1
3 5
o 1.00 - 3
g 2
5 0.75 4 e
= o
8 0.50 1
0.25 4
000 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.2 —— pol 0
— pol 1
_ 1.0 A .
-—|| —
3 0.8 1 >
= S,
£ 061 ”
[ ©
(V] <
2 0.4- =
o
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
— pol 0
1.0 — pol 1
7 0.8 -
3 e
= S
0.6 A —
5 9
o 2
= 0.4 1 o
o
o
0.2 A
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
osd — pol 0
— poll
> 0.6 1 =
— (V]
g S,
© 0.4 1 %
(] <
= a
o
o
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

solint 10 sec SO elev 55-56 deg

20 A — pol 0
— pol 1
10 A
N
_10_
_20_
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S1 elev 54-54 deg

20 4 — pol 0
— poll
10
0 1 mw
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 4
0 i:>—‘~==—=::=><==‘==><=;—,, — —__
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S3 elev 57-57 deg

20 A — pol 0
— pol 1

10 -

_10 -

_20 .

1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

204 — pOlO
— poll
10 A
0_

_10 -

_20 .

1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHz]



mO046

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.50 A — pol 0
— pol 1
. 1.251
T
= 1.00 A >
= S
£ 0.75- A
[ ©
() <
5 0.50 - s
o
0.25
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
| — pol 0
1.50 pol 1
o 1.25 A
Eﬁ =
a 1.00 3
Q
S 0.75 1 n
() c
= o
2 0.50 T
0.25 A
000 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.2 ~ — pol 0
— pol 1
_1.01
-—|| —
3 0.8 >
= S,
£ 0.6 2
[ ©
() <
3 0.4 =
o
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h
1.4 - — pol 0
— pol 1
— 1.2 1
|
2 1.0 =
— ()
= i)
% 0.8 A v
o ©
g 0.6 A S
o
2 0.4 -
0.2
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.09 0ol 0
— poll
—. 0.8
ja o
S 0.6 1 S
5 2
[ ©
g 0.4 A <
o
o
0.2 A
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 _ m&w
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 4
0 | P‘\* - B i —— %
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 M
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
0 - F>_‘:::::,,45:=»<::=¢§::::::::::7<:i:::::;
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mQ047
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

—— pol 1 —— pol1l
— 2.0 1
0 10 -
3 e
2 1.5- 3
: > o
o ©
G;J 1.0 A <
g ~10 -
0.5
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 J1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
2.5
— pol 0 20 - — pol 0
— pol 1 — poll
_ 2.0
T 10 -
= 5
S 1.5- 3
: = o
g 1.0 - %i
g ~10 -
0.5
_20 .
OO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
5 00 1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
— pol 0 20 - —— pol 0
1.75 —— pol 1 — pol 1
— 1.50 -
.—|| —_ 10 .
3 1.25 1 >
o S,
s o A< S XS
o 2
2 0.75 A <
o —10 ~
2 0.50 1
0.25 1 —20
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
2.0 1 I pOl 0 20 - e pOl 0
— pol 1 —— pol 1l
5 1.5 = 10 1
— ()
& I,
o 107 g 01 WWQ‘,
o ©
g 5
S —10 ~
0.5
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 ]1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.504 — pol 0 204 — pol 0
— poll — poll
— 1.25 -
T> —_ 10 N
= 1.00 - o
o S,
S 0.75 - g 0]
o 2
3 0.50 - < _104
8_ . —
0.25 1
_20 .
000 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]



mQO048

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

i — pol 0 20 - — pol 0
2.0 —— pol 1 —— pol 1
> 1.5 = 10 -
— ()
g— S
S 1.0 1 % °
g 5
2 ~10
0.5
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
—— pol 0 20 - —— pol 0
2.0 - — pol 1 — pol 1
oy 101
3 1.5 o
= S,
% o 0 W
g 1.0 - %
2 ~10
0.5 A
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
2.0 A —— pol 0 20 - — pol 0
— pol 1 — poll
5 1.5 = 10 -
— ()
S 1.0 8 0 1 q-—_‘_’__.—-’— \—_/
o —10 ~
0.5
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
2.0 —— pol 0 20 4 —— pol 0
— pol 1 — pol 1
-—l'«_' 1.5 A 10
= e
— ()
= S
£ 10l o 0 W
o ©
g &
o —10 ~
2 0.5 1
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.50 A pOI 0 204 — pOI 0
— poll — poll
— 1.25 A
T> —_ 10 N
= 1.00 1 5
g— S,
® 0.75 g 9]
() <
2 e i
9 0.50 1 -10
0.25 4
_20 .
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz] freq [MHz]




mQO049

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0
2.0 — poll
> 1.5 S
— ()
g S
Q
C 1.0 1 @
() <
= o
o
o
0.5
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A — pol 0
— pol 1
T 1.5+ _
e o
— ]
= S,
£ 10- A
[ ©
(] c
= o
2
0.5
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
14
— pol 0
1.2 A — pol 1
=" 1.0 -
3 e
2 0.81 S
()]
C 0.6 - S
() <
= o
S 0.4 1
0.2 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.4 A
— pol 0
1.2 A — pol 1
= 1.0 -
3 e
2 0.8 1 3
Q
C 0.6 %
() <
= o
S 0.4
0.2 A
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.09 — pol 0
— poll
— 0.8 1
ja o
a 0.6 A §
g 2
T 04 2
g 0.4 S
o
o
0.2
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
0 -
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 W
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO50

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

2.0 N —_— pOl 0
— pol 1
= 1.5 -
3 >
— (O]
o S
€ 1.0 9
[ ()
(O] e
2 o
(@]
0.5 -
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A —— pol 0
— pol 1
= 1.5
3 =
— [J]
o S
£ 1.0- 2
[ ©
(O] <
= o
8
0.5 A
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.4 4 — pol 0
— pol 1
1.2
> 1.0 -
— (V]
g 08 =
£ ”
@ 0.6 1 2
2 oY
o
Q 0.4
0.2 1
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.4 ol 0
1.2 A — pol 1
ji 1.0 5
La.os_ 3
g @
= 0.6 2
= o
S 0.4
0.2 -
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.2
— pol 0
1.04 — poll
' 0.8 - 5
= O
Q S
£ 0.6 1 v
[ ©
g 5
2 0.4
o
0.2 1
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

— pol 1
10
0
-10
-20
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 1
0- M
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 1
) 1L,\/ —T =
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 - f— \__}/\
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 1
O -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO51
1668863917 J1939-6342 4k 0.08h

2.0 A — pol 0
— pol 1
7151 _
Py o
— [J]
g S,
@ 1.0 A Q
[ ()
(O] <
2 o
3
0.5 1
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A —— pol 0
— pol 1
= 1.5
3 =
— ()
= S,
£ 10- 3
[ ©
() <
= o
3
0.5
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.75 A
5 — pol 0
1.50 A — pol 1
T 1.25 - —_
) o
a 1.00 - 5
g 9
5 0.75 1 o
2 o
8 0.50 1
0.25 A
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
i — pol 0
1.50 —— pol 1
o 1.25 A
fa o
g 1.00 - ;%
(O]
° 0.75 1 n
(0] <
2 o
8 0.50 A
0.25 A
0-00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.24 — pol 0
— poll
— 1.0
|
. —_
= 0.8 - 0
g 5,
T 0.6 - 3
[ ©
g 5
o 0.4 -
o
0.2
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

solint 10 sec SO elev 55-56 deg

20 — pol 0
— pol 1
10
0 M\ r =
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0- ——t
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 A m
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

20_ —— pOI 0
— poll
10 -
01 7W\
_10_
_20_
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mQ052
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.50 - — pol 0 20 - — pol 0
— pol 1 — pol 1
— 1.25 -
T 10 -
3 e
2 1.00 S
© (.75 - g °
(0] <
2 ® _101
2 0.50 1 -
0.25
_20 .
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 J1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
| — pol 0 20 - — pol 0
1.50 pol 1 — pol 1
o 1.254 10 -
= e
g 1.00 §
) 0 ?‘-MW
S 0.75 - 2
() c
2 % _101
S 0.50 - -
0.25 1
_20 .
OOO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.2 - — pol 0 20 — pol 0
— pol 1 — poll
— 1.0 -
.—||> —_ 10 .
5 0.8 - 0
3 S,
G 0.6 A g 07 P———— e
[ ©
g 5
S 0.4 - —-10
0.2
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.4 A — pOl 0 20 - — pOI 0
1.2 1 —— pol 1 —— pol 1
> 1.0 = 107
= S
e 0.8 1 E‘ 0 J— e
= Q /__/ ‘a\<
% 0.6 - 2
s % _10-
2 0.4 1
0.2 _204
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.04 — pol 0 204 — pol 0
— poll — poll
o 0.8 10 -
= e
‘;. 0 6 - %
: = o
= e o
3 ~10 -
0.2 A
_20 .
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]




mO53
1668863917 J1939-6342 4k 0.08h

— pol 0
2.0 A — pol 1
T
315 0
o S
g @
o 1.0 3
2 o
(@]
o
0.5
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
— pol 0
2.0 A — pol 1
T
315 2
o S
g @
5 1.0 1 j
= o
(@]
o
0.5
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.50 - — pol 1
jb 1.25 - 5
o 1.00 - S
g @
& 0.75 1 o
= o
8 0.50 -
0.25 A1
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
— pol 0
1.50 A — pol 1
f" 1.25 -
3 >
8 1.00 §
(O]
S 0.75 H a
(O] <
2 o
8 0.50 A1
0.25 A
0-00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.4
— pol 0
1.24 — poll
T 1.0 _
) o
Lg.og- S
g =
@© 0
5 0.6 - o
= o}
2 0.4-
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

solint 10 sec SO elev 55-56 deg

20 A — pol 0
— pol 1
10 A
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 £%<F74:::==.+==$"‘;i9==:::"‘——‘h‘ —
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
0 - !| 7moé > :4 ;
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
04 M ;/7<
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

20_ —— pOI 0
— poll
10
0 w-w
—10 -
_20_
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




power amp [Jy~!] power amp [Jy~!] power amp [Jy~!] power amp [Jy~!]

power amp [Jy~1]

mO054

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

2.0 —— pol 0
— pol 1
1.5 A
o
()
S
1.0 A
©
<
o
0.5 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 - — pol 0
— pol 1
1.5 A
o
]
S,
1.0 A
©
<
o
0.5 A
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h
1.4 ~ — pol 0
1.2 A — pol 1
1.0 A —
[@)]
()
0.8 A o
()]
0
0.6 - 2
o
0.4
0.2
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h
1.2 A —— pol 0
— pol 1
1.0 A
0.8 - 0
S
0.6 A
©
<
o
0.4
0.2
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1.0 A
— pol 0
— poll
0.8 A1
o
0.6 3
()
0
0.4 - 2
o
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10 -
0 W
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 -
04 Jx‘__v i
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 - v M
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10 -
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO55

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.00 -

0.75 A

0.50 A

power amp [Jy~!]

0.25 A

0.00

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668862317 J1939-6342 4k 0.08h

1.50 A

1.25 -

1.00 A

0.75 A

0.50 A

power amp [Jy~!]

0.25 A

0.00

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668865347 J1939-6342 4k 0.08h

1.50 A

1.25 -

1.00 -

0.75 A

0.50 A

power amp [Jy~]

0.25 A

0.00

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668867372 J1939-6342 4k 0.08h

power amp [Jy~1]

— pol 0
— pol 1

phase [deg]

1800

2000

2200

2400

2600

2800

3000 3200 3400

1668869113 J1939-6342 4k 0.08h

power amp [Jy~]
© o o +» ¥
I (o)} (o] o N

o
N
1

o
o

— pol 0
— poll

phase [deg]

1800

2000

2200

2400

2600
freq [MHZz]

2800

3000 3200 3400

20 — pol 0
— pol 1
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 -
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
] e e
0 F-L' \\r—_’_
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 - : i ;:: —— %
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mQO57

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0 20 - —— pol 0
2.0 A — pol 1 — poll
N _ 10
3 1.5 o
= S
g g 07
5 1.0 A o |
s ® 101
S -
0.5 A
_20 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
2.5
— pol 0 20 - — pol 0
—_— —— pol 1
2.0 A pol 1 00
T 10 -
= 5
a 1.5 - § Y
£ o 01 W ——— ——!
g, 1.0 - £
o
2 ~10 -
0.5 A1
_20 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
2.0 —— pol 0 20 —— pol 0
— pol 1 — poll
5 157 = 101
— ()
5 1.0 g 0 g
- ©
g £
8 ~10
0.5 A1
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
4 — pol 0 20 - — pol 0
1.75 —— pol 1 — pol 1
— 1.50 -
r—II —_ 10 N
B ! w
= A=)
% 1.00 A v 0 A
 0.75 2
s .
2 0.50 A1
0.25 ~ —20 A
0-00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.50 4 —— pol 0 204 — pol 0
— poll — poll
_1.25
|—I| —_ 10 T
3 1.00 o
= A=)
£ 0.751 o 07
S 0.50 A —-10
0.25 A
_20 -
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz] freq [MHz]




mO058

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

1.75
— pol 0 20 - — pol 0
1.50 A — pol 1 — pol 1
T 1.25- 101
Py o
— [J]
g. 1.00 A S,
© v 0 A
= 0.75 1 ©
2 o
8 0.50 1 —10 1
0.25 - 204
0.00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 J1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
1.50 1 — [l 20 - ——rol 0
— pol 1 — poll
— 1.25 -
.—I|> —_ 10 N
= 1.00 0
£ > WS@Q<
© 0.75 - 2 0
(V) <
= o
S 0.50 1 -10
0.25 1
_20 .
000 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
—— pol 0 20 - —— pol 0
1.0 1 —— pol 1 —— pol 1
5 087 = 10 1
— (V]
o S,
£ 067 o 0- = e ——— —
© " \__/
[ ©
2 0.4 2
3 ~10 -
0.2 1
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.2 A — pol 0 20 4 — pol 0
— pol 1 —— pol 1l
— 1.0
-—|4> —_ 10 N
= 0.8- o
& kel
S 0.6 g 07 " —— — —<C
[ (0]
2 5
S 0.41 ~10-
0.2 1
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
— pol 0 204 — polO
087 — pol1 —— poll
'_Ir|_‘ 10 -
> 0.6 - =
— (V]
3 S,
O -
(O]
C 0.4 S
g 5
3 ~10 -
0.2 1
_20 .
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz] freq [MHz]




mO059

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0
2.0 A — pol 1
> 1.5 =
— ()
g S
Q
C 1.0- 5
() <
= o
o
o
0.5 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A — pol 0
— pol 1
Jb 1.5 - S
— ]
g S,
5 1.0
(] c
= o
o
o
0.5 A
OO T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h
1.50 A — pol 0
— pol 1
_ 1.254
-—|| —
3 1.00 - o
g S,
S 0.75 2
[ ©
g 3
5 0.50 -
o
0.25 A
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h
1.4 — 2lC
— pol 1
:,12—
|
2 1.0 - °
= S
E 0.8 1 A
o ©
g 0.6 A <
o
Q 0.4 A
0.2
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
1291 — pol0
— poll
_1.01
T
3 0.8 - >
o S,
£ 0.6 A
© 2
5 0.4 =
o
0.2
00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
01 "L —
_10 _
-20
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
o e~ ——
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10
0 - 1%_/* b, ’—Qz—c—"’d
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
S
0 - I seEEe \/
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S4 elev 57-57 deg
20_ —— pOI 0
— poll
10
N X e /A
_10 _
_20 .
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO060
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0 20 —— pol 0
1.2 - — pol 1 — pol 1
7107 10
3 e
2 0.8 - 35
£ @ 0
C 0.6 - 5
g 5
S 0.4 1 —10 1
0.2 —20 1
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 J1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
141 — pol 0 20 - — pol 0
1.2 - — poll — poll
5 1.0 - = 10 -
2 08. 3
% v 0 1 Ww-g—
5 0.6 ©
= o
3 0.4 ~10
0.2 _504
OO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
—— pol 0 20 - —— pol 0
0.8 - — pol 1 —— pol 1
= _ 10+
= 0.6 >
g. S ! — — el
0 -
()]
C 0.4- 5
g 5
8 ~10 -
0.2
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
—— pol 0 20 - —— pol 0
0.8 A — pol 1 — pol 1
T 10 -
> 0.6 - =
— ()
g_ 5, T~ — 9 —
0 -
Q
C 0.4- 5
g 5
§ —10 1
0.2
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
0'7_—poI0 204 — pol 0
064 — Ppoll —— pol 1
5 051 = 107
‘;. 0 4 . %
: = o
g 0.3 %
2 0.2 1 —101
0.1 _50 4
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]



mO061

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

i — pol 0 20 - —— pol 0
3.5 —— pol 1 — pol 1
— 3.0 T
.—lq —_ 10 N
3 2.5 - o
= S
% 2.0 A v 041
o1 5 4 2
s o
o —10 ~
Q 1.0 A
05 7 _20 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
4
—— pol 0 20 - —— pol 0
— pol 1 — poll
= 3 _ 101
e o
— ]
o S,
£ 2- o 07 M e
- ©
g £
2 ] ~10
_20 .
O T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
—— pol 0 20 - —— pol 0
2.5 1 — pol 1 — poll
5 2.0 - = 10 -
— - ()
3 1.5 - =
S 2 97 :>"‘>'O“‘ ———
[ ©
GEJ 1.0 A <
8 ~10 -
0.5 A
_20 _
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
2.5 1
— pol 0 20 - — pol 0
— pol 1 — pol 1
_ 2.0
T 10
= e
o 1.51 §
% g 01 'OM
g 1.0 %
8 ~10
0.5 A
_20 .
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
201 — pol0 204 — pol 0
— poll — poll
1.5 10 -
= 5
— [}
o 5,
£ 10- o 01 |7'Q\__—__/
8 ~10
0.5
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz] freq [MHz]




m062

1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

2.0 — pol 0
— pol 1
= 1.5 1
3 e
o s
£ 1.0- @
o 2
2 o
o
< 0.5
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 ]1939-6342 4k 0.08h
2.0 A — pol 0
— pol 1
%T 1.5 A —
e o
o s
© 1.0 - A
) 2
= o
g
0.5 A
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 ]1939-6342 4k 0.08h
1.50 A — pol 0
— pol 1
— 1.25
|
3 e
*é 1.00 A :%
© 0.75 A :
g 5
9 0.50 -
0.25 A
0.00 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 ]1939-6342 4k 0.08h
1.41 — pol 0
1.2 — pol 1
L 101 =
2 0.8 3
S A
5 0.6 1 2
= o
2 0.4
0.2
0-0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 J1939-6342 4k 0.08h
129 — pol 0
— pol 1
_ 1.0 A 2
T
3 0.8 >
o S,
£ 0.6- A
o 2
2 0.4 e
o
0.2
0.0 T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400
freq [MHZz]

20 A — pol 0
— pol 1
10 A
01 = S ——
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S1 elev 54-54 deg
20 4 — pol 0
— poll
10
0 - W«
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S2 elev 56-56 deg
20 A —— pol 0
— poll
10 4
0 i *’*\; __’——\\A
J”'_~—'dv
_10 _
_20 _
1800 2000 2200 2400 2600 2800 3000 3200 3400
solint 10 sec S3 elev 57-57 deg
20 A — pol 0
— pol 1
10 A
0 . ~v ’w
_10 _
_20 -
1800 2000 2200 2400 2600 2800 3000 3200 3400

solint 10 sec S4 elev 57-57 deg

20_ —— pOIO
— poll
10 A
.. L.——\\_’W
_10_
_20_
1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHz]




mO063
1668863917 J1939-6342 4k 0.08h solint 10 sec SO elev 55-56 deg

— pol 0 20 - — pol 0
2.01 —— pol 1 —— pol 1
o 10
> 1.5 S 1
o 3 [
S o 01 | M
© 1.0 3 \‘
g 5
g ~10 -
0.5
_20 .
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668862317 )1939-6342 4k 0.08h solint 10 sec S1 elev 54-54 deg
— pol 0 20 - — pol 0
2.0 A — pol 1 — poll
o _ 10+
3 1.5 - >
o ©
—_ T ——
g 2 0] — =
g) 1.0 A _g
g ~10 -
0.5 -
_20 .
OO T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668865347 J1939-6342 4k 0.08h solint 10 sec S2 elev 56-56 deg
1.4 1 — pol0 20 - — pol 0
— pol 1 — poll
— 1.2
.—lc —_ 10 .
1.0 o
— (V]
o S,
£ 0.8 1 o 071
% 0.6 < o
2 0.4
0.2 —20 -
0.0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668867372 J1939-6342 4k 0.08h solint 10 sec S3 elev 57-57 deg
1.4 A —— pol 0 20 - — pol 0
— pol 1 — pol 1
1.2 & .
— 1 ;.
> 1.0- - 0
a S
g- 08 - ‘;‘ 0 | — e f
© %] \\_/
o 0.6 - 2
s * _101
Q 0.4
0.2 —20 -
0-0 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400
1668869113 ]1939-6342 4k 0.08h solint 10 sec S4 elev 57-57 deg
1.2 4
— pol 0 204 — polO
1.04 — poll —— pol1
> 0.8 = 107
— (V]
o S,
£ 0.6+ g 0] M
[ ©
2 0.4 <
3 ~10 -
0.2 1
_20 .
00 T T T T T T T T T T T T T T T T T T
1800 2000 2200 2400 2600 2800 3000 3200 3400 1800 2000 2200 2400 2600 2800 3000 3200 3400

freq [MHZz] freq [MHz]




